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= X 4 & | Figh oD aE hOXES X 4 THwALDKE [ B ADKRES X 4 g | timrontkks ADKRES X LML DEE | & ADKRES
(m) (m) (kN/m) 2B A (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 443 55.24] Fhilst | 000 ~ 443] 1.95 9.84 ZHLS 1.00f 500 ~ 500 55.24] Zhils | 500 ~ 500] 1.95 9.84
9 100kN/m%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z% = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 6.10 76.47| #FnbLis [000 ~ 6.10] 197 9.98 ZHLS 1.00 500 ~ 7.80 76.47] Fhiist | 500 ~ 7.80| 1.97 9.98
3 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/0.00 ~ 496 61.78] £hLlst | 000 ~ 496| 2.06 10.43 TS 1.00 500 ~ 6.40 61.78] ZhLlst | 500 ~ 6.40] 2.06 10.43
4 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 6.96 88.21| #nlist 000 ~ 0.00| 1.57 7.91 st 1.00f 500 ~ 9.89 88.21| ZnList | 500 ~ 989 157 7.91
5 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 7.63 97.75| Zh s | 000 ~ 7.63] 1.98 9.99 Lot 1.00f 500 ~ 11.28 97.75| Zn kit | 500 ~ 11.28] 1.98 9.99
6 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 7.75 99.53| Zn L4t |0.00 ~ 7.75| 2.04 10.33 st 1.00f 500 ~ 10.94 99.53| ZnList | 500 ~ 1094| 2.04 10.33
7 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 6.93 87.87] x4t 000 ~ 6.93| 1.86 9.41 st 1.00f 500 ~ 8.80 87.87| #nLis | 500 ~ 880 1.86 9.41
8 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiB A = ~ = = =
ZnLs 1.00{ 0.00 ~ 5.02 62.53] Zh L4t 1000 ~ 502| 2.06 10.43 st 1.00f 500 ~ 6.50 6253 #nLi4 | 500 ~ 650 2.06 10.43
9 100kN/m#%#BZ % -l -~ = —-|3mEEZS -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS -~ = = =
ZnLs 1.00{0.00 ~ 7.30 93.03| #1 L4 |0.00 ~ 0.00] 1.73 8.73 st 1.00f 500 ~ 940 93.03| ZnLis | 500 ~ 940 1.73 8.73
10 100kN/m%#BZ % -l -~ = —-|3mEEZSD -~ = = —| 100kN/mM%# x5 = -~ = —-|3m%EiBAS -~ = = =
ZnLs 1.00{ 0.00 ~ 582 72.86| =1 klst | 0.00 ~ 0.00] 1.65 8.32 st 1.00f 500 ~ 6.70 7286 ZnList | 500 ~ 6.70] 1.65 8.32
11 100kN/m#%#BZ % -l -~ = —-|3mEEZS -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS -~ = = =
ZnLs 1.00{ 0.00 ~ 558 69.72| Zh st 1000 ~ 0.00] 1.62 8.18 st 1.00f 500 ~ 6.40 69.72] #h i | 500 ~ 6.40| 1.62 8.18
12 100kN/m#%#BZ % -l -~ = —-|3mEEZS -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS -~ = = =
ZnLs 1.00{0.00 ~ 6.28 78.85| #h L4t | 000 ~ 6.28] 2.09 10.58 st 1.00f 500 ~ 9.20 78.85| #n L4t | 5.00 ~ 9.20f 2.09 10.58
13 100kN/m#%#BZ % -l -~ = —-|3mEEZD -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEBZD ol ~ - - -
ZnLs 1.00{0.00 ~ 553 69.08| Zn1Lls | 000 ~ 553] 1.97 9.98 ZznLst 1.00f 500 ~ 6.80 69.08] ZnList | 500 ~ 6.80] 1.97 9.98
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ IMEEZD ~
ZFh s ~ Zh s ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEEZD ~
ZNLUS ~ ZThLS ~ ZHLS ~ T IO0)) ~
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